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And one to exclude slaves — 2972V MWWRD T

OVERVIEW

The X3 concluded that the P05 of ¥ws 127 92 YV is to be expounded as a "2
"2 VIYn; we include everything (regarding 1372w 990) from the "12°7 except that
the 20w 1 of 7,7 and 7w exclude respectively °72y ,mypIp and Nvw. Our
nooIN questions the need for a VW N to exclude o°72v.

mooIN anticipates a difficulty:
- ZMYPIPY VIPHNTN D273y 19990 19957 23 by 9N

And even though that previously we derived to exclude 2972y since they are

compared to YP9p, but not because intrinsically the 3"1915 excludes them; so why do we need
an additional 0w to exclude 0>7ay, they should be excluded since they are mypapPL W -

Moo responds:

1YWY YANA 31PN HaY Y¥a N2 DD 29157 1199 NON
Here however (where we expound the P09 in a 121 »127), since '72' is written as a
"12%1 we require a specific v for each one individually.

SUMMARY
A "127 requires a specific 01¥°» for each exclusion regardless of a wp3n.

THINKING IT OVER

If we are excluding o>72v because of a W n (of 7am), why does the Xn» 2 state?
that we exclude 2’72y because MmypapY WA, when in fact we exclude 272V
because of the 01w (but [seemingly] not because MypIP? WP1I)?!°

! 2,20; when we interpreted this 7109 in a >™"1912.

2 If o072y were not MypIp? W, they would be included in the 3", not excluded, but nevertheless they are
excluded only because mypap? w1, Similarly here even if there is no vw» for 0>72v specifically they should
nevertheless be excluded since mypap? Wi and Mypap are specifically excluded.

3 When we expound 3"1913, the inclusion of the 993 (which is ©197 1P¥n) is not that strong that it can override the wpn
of mypaph ov7ay; therefore the o°7ay can be excluded. However where we utilize the 127, the "2 is so powerful
that, unless there is a specific VW n for 0>72y, the »121 will override the ¥p7p% wpn and include o172y as well.
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5 See X"awn and 7207 WAon XN # 88.
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